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a) How is the minimum size of Ethernet frame determined?

b) How does an FDDJ node determine whether it can send asynchronous traffic and
synchronous traffic?

¢) What are the advantages of allowing persistent TCP connections m HTTP?
d) Why is UDP pseudo header included in UDP checksum calculation? -

e) Mention the advantages of error correction by receiver as compared to error
detection.

) What is the network addrcssinaclassAsubnet with the IP address of one of the
hosts as 25.34.12.56 and mask 255.255.0.07 :

g) What is PDP? i
h) State the function of bridges. :
i) What is the difference between port address, physical address and logical

address?
j) What is SNMP? - (1*10=10)
Section: rm
2. Explain the differences between OSI model and TCP/IP model? (10)

3. In a digital communication system a 32 symbol signal is used jn transmission. Each

a) Calculate the Symbol rate of the 32 symbol signal.
b) Calculate the information content of a symbol.

¢) Calculate the required bandwidth (in kHz) and the capacity (in kbps) of the
transmission medium to transmit the 32 symbo] signal.

to waste of bandwidth and which one uses the bandwidth efficiently? (6)
b) | Discuss the problems encountered jn applying CSMA/CD algorithm to wireless
LANs : @




6. Explain the RIP algorithm in detail with a suitable example.
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Section B.
. Discuss the Random Early Detection mechanism and derive the expression for dr
probability. 3

7. Write short notes on the following: a) Multi Media b) SNMP (s*2=1

R=R~n




